1 Hepens 1 nexaOps yeTBepr




1 Henenst 2 nexabpsi MATHUIIA




2 Heaens 5 nexadps MoHeaeIbHUK




2 "Hepens 6 qekaOpst BTOPHUK




2 Heaens [ nexadps cpena




2 "Henens 8 nekabpst yeTBepr
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2 Hepens 9 mekaOps MATHULIA




1 Henenst 12 nexaOps moHEAEILHUK




1 nenens 13 nexaOpsi BTOPHUK
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1 Hepens 15 nexaOpst yeTBepr




1 Henens 16 nexaOps naTHUIIA




1 Henemst 19 nexaOps moHEAEILHUK




1 nenens 20 nexaOpsi BTOPHUK




1 menens 21 nexabps cpena




1 Henems 22 nexabps yeTBepr




1 Henens 23 nexaOps NATHHUIIA




2 Henens 27 nexaOpsi BTOPHUK




1 nenens 11 suBaps cpena




1 Henens 12 sHBaps 4eTBEPT




1 menens 13 sHBaps maTHUILA




2 Heaens 16 sHBaps MOHEACIbHUK







2 Henens 17 sHBapsi BTOPHUK




2 Heaens 18 sHBaps cpena




2 Henens 19 saBaps yeTBepr
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1 Henenst 23 stHBaps MOHEICTBHUK




1 Henens 24 sHBaps BTOPHUK




1 Henens 25 sHBaps cpena




1 Henens 26 ssHBaps YETBEPT




1 Henenst 27 sHBaps MATHULIA




2 neaens 30 ssHBaps MOHEACTLHUK
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